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« Answer all questions.
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Do not write

Answer all questions in the spaces provided. wﬁ::m
Winset Park
There is a data sheet for Winset Park.
Jeff works in Winset Park.
Jeff wants to work out the height of this tree.
Not drawn
accurately
3 m
Use the formula on the data sheet to work out the height of the tree.
[2 marks]
Zol'" Y 3 6 = 2 b * l m.
Check your answer.
Show how you have done your check.
[1 mark]
. - - I——
36 X Lsle= Vo llh g
Turn over »

i
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1 (b)

Do not write
outside the

Jeff is designing a new playground for the park. e

Here is a sketch of the playground.

16m

Not drawn

. accurately
! 10m

8m .
28m

18m

24 m

Show that the area of the playground is 592 m?
[2 marks]

("b"‘_X__zsrﬂ '!'_(_-Snj_.x \Bm) = S92mt

‘ ’llm Il”l l||| ||H |B/M/Jun18/4368
0 4
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Do not write
1 (c)  Jeff wants a safe surface for the playground. outido tho

He decides to use woodchips.

Woodchips |

| —

‘ ' Large bag Small bag w

I covers 48m° | covers 03 m? | Ii

| £5250 each | £382each |
L | |

Work out the cheapest possible cost.
Include the number of each size of bag Jeff needs to buy.

<q [6 marks]
TR T 125-3 fn{aze /')aj;s; 23 x £52.50
I o#s$7-30
[23X 4-8n = S40 - Gm?
ch?_ — S$90-4& = -
l-3’;,—53 = & smal bus, bx382 £22.92

e G:’ Smeld b(\SS oxe Lb\mhper than
I et _lacge bag S0 the C onliaal o

SRR | k. a{ge, 65(‘:’.10_.(_4(_,_ Qos_[:;nj
_£b4sTS0+ £22.92=

Y6480.42.

Turn over b

T
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1 (d) The table shows the items Jeff wants for the playground. o4
Position Space needed for each item
1 climbing frame Anywhere 5 m by 5 m square

At least 1 in the part nearer

2 swing sets e ot 6rd 8 m by 4 m rectangle
Allin the part nearer the

3 rockers southend 2 m by 2 m square

1 roundabout Anywhere 6 m diameter circle

1 sandpit In the south-west corner 4 m by 2 m rectangle

Show a possible design on the scale drawing opposite.
[5 marks]

i

IB/M/Jun18/4368
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Scale: 1 cm represents 2 m box
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2 Garden birds

Here are some birds eating a fat cake.

Jenny mixes bird feed and lard to make fat cakes.

Bird feed Lard

In a fat cake, the weight of bird feed and the weight of lard are in the ratio 2 : 1

2 (a) Each fat cake weighs 120 grams.

Show that Jenny needs 80 grams of bird feed for each fat cake.
[2 marks]

Zz_ .2
2310 9 a2x 315 VYicd Feed .

LV C\ ’&itd .

%7‘ 1204 2= % OS

| ‘Ilm |I’|| l||| |||’ 1B/M/Jun18/4388
08
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2 (b)  Jenny wants to make 300 fat cakes. s
She wants 2 of the bird feed to be nuts.
Nuts cost £3.20 per kilogram.

Packs of lard weigh 250 grams and cost 39p each.

Jenny says,
“For 300 fat cakes, in total the nuts and lard will cost less than £75"

Is she correct?
You must show your working.

[8 marks]
_ 300 %204 2300 x 0.08% b
= 2y bred feed

— _
L 4bgx T T 1Bkg  nuAS.

S _tghgi_x LS?.CL/_ﬁj = {5760 jor ek,
______ R0y bicd_feed > 10-50= 405 lacd.
L = 0-Olthy lord pec
Cake .
— (0:00 kg x300= 2by lord.
_ 0-1%%kg  Jard =39 = £0-39
s X 4039 = §ig.712.
$¢1.60 + He.72 = F .32,
- Turﬁ over b

09

IB/M/Jun18/4368
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Do not write

2 (c) One day, 100 students at Jenny's school took part in a survey. "”’“;Z: e
They each counted the number of sparrows in their garden at 8 am
Here are the results.
Number of sparrows Frequency
2 3
3 14
4 27
5 46
6 10
Work out the mean number of sparrows.
Give your answer to 1 decimal place.
[4 marks]
(‘LXB) + (30 x (4 YD 4+ (S aub) + (6x\0) o
L
-#_ —
00 < &.&b > 4.5,
_____ N R 14
T
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3 Saving money box
There is a data sheet for Saving money.

3 (a) Sunita has a bank account.
Next year, she expects to get £110 interest but pay fees of £60
This table shows the bills Sunita pays and the cashback rates the bank pays her.

Phone Water
Bill £38 per month  £372 per year
Cashback rate 3% 2%

She says,
“Next year, the total interest and cashback will be at least £70 more than the fees.”

Is she correct?
You must show your working.

[6 marks]
_ E3R% yuz - B4S6 ger  yer  (Phene).
 Fug x0.03 = EB.6E (Phene) o
T i3 o 002 b v ek
E;S b%F* Si—‘”""* < i"‘\O_ -_ S;(;O_—_ -
= e e
T Y, She . coreck.
Turn over »
i



PassFunctionalSkills.co.uk 12

Do not write

Ethan shops at Westco supermarket and has a Westco credit card, .

3 (b) Ethan has 6000 points.

How much are they worth if he uses them to help pay for a holiday?
Circle your answer.

£60 &80 £240 £1800

[1 mark]

3 (c) Next year, Ethan expects to use his Westco credit card at Westco to spend

£3200 on groceries
and
£900 on petrol.

He expects to use this credit card in other shops.

Show that if he spends £2600 in other shops he will earn 5000 points in total.
[5 marks]

__¥3200 = 3200 pbs (grocens).
__SA00 = 40 gt (pedeal)
B S—
£3200 +£900 = F*lop

L 100 )
__._.__.?. Tu = NO2Sys (ccedit coxd use  ar ek o).

| _EZ_b_QQ__ = 3250k (€ use olgonhoar).
£8 I

8200 + 4S50 4 \02S A 328
= SOOO' p%s :

L

1B/M/Jun18/4368
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3 (d) Next week, Joe plans to spend box
£25 on groceries at Westco
and
£165 on meals in restaurants.
He is going to use 3200 points to pay for as much of this as possible.
Work out the least amount of money he would also need to pay.
[3 marks]
3200 xyp = 12800, = iNh¥ for use " estoucents.
le =9 }Iw = 3—7 ’}O Soen d in fe-S‘f'Cu.(quh
1%
Bﬁl i 5:28' = gbz Ho _’;‘PC(\C(_ 1N thL( 5
15
Turn over for the next question
L
13 IB/M/Jun18/4368
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4 Fitness club

4 (@)  The table shows the price of membership at a fitness club.

Type of membership Price per year
Adult £240 + 20% VAT
Senior (aged 60 or over) | £160 + 20% VAT
Junior (aged 16 or under) £110 + 20% VAT

Family (2 adults and 2 juniors) £719 including VAT

Mr and Mrs Jones are both aged 42
They have two sons, aged 14 and 16

They all want to buy membership of the fitness club for a year.

Mrs Jones says,
“Family membership will save us more than £120"

Is she correct?
You must show your working.

2%5940 x 2= §ST6 (adukd

2y WO xlr = FWU (Gdes)
£ 4t = E840 kol B
g0 -89 =fl2

T

Do nat write
outside the
box

[6 marks]

1B/M/Jun18/4368
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Doanwn‘rn
t4 (b)  Lee runs on a treadmill, atsdo e

He burns 688 calories per hour.
How many calories does he burn in ?% minutes?

ﬁ ' I-"T‘(; mingre .

o -1 B

Ld4b x-S = S6 keal.

Check your answer.

Show how you have done your check.
[1 mark]
8o .
= 60 = HPE weadk per houc .

Question 4 continues on the next page

Turn over >

l llml ||Iﬂ5Im M 1B/MJun18/4368
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4 (c)

16

Amy, Kim, Sal and Tom are the trainers at the fitness club.

16

Two trainers work each day from Monday to Thursday.
Three trainers work on Friday, Saturday and Sunday.

Complete a possible rota for next week so that

* Amy works on five days
* Kim, Sal and Tom each work on four days
* Amy does not work on Sunday
* nobody works for more than three days in a row.

Practise on this rota.

Da not write
outside the
box

(3 marks]

Trainer 1

Trainer 2

- Monday

' Tuesday

Wednesday

Thursday

' Friday

-
Trainer 3

Saturday

Sunday

Put your answer on this rota.

Trainer 1

Trainer 2

Monday

Tuesday

Wednesday

Thursday

[ o |[A | X

Friday

i).z:‘s:*‘b'b

Saturday

>

Sunday

7~

LY [ |7

Trainer 3

<X

IB/M/Jun18/4368
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Do not write
4 (d)  This cuboid represents the water in the swimming pool at the fitness club. b
/.___.____ -/ Not drawn
P 4 '2m accurately
I= /
| VQ m
; . is_m B
1 m? = 1000 litres
There should be 0.0004 fluid ounces of chlorine for each litre of water.
How many fluid ounces of chlorine should there be in the pool?
[3 marks]
3
2SS xdyr - <O
40w x 1000L = 450000L woker
len
4SO 000L xG.0004% = IBOL  cChlone
15
END OF QUESTIONS
|
i
!
| ‘IIMWUm ‘||| IB/M/Jun18/4368
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There are no questions printed on this page box

DO NOT WRITE/ON THIS PAGE
ANSWER IN THE/SPACES PROVIDED

Copyright information

For confidentiality purposes, from the November 2015 examination series, acknowledgements of third party copyright material will be
published in a separate booklet rather than including them on the examination paper or support materials. This booklet is published after
each examination series and is available for free download from www.aqa.org.uk after the live examination series.

Permission to reproduce all copyright material has been applied for. In some cases, efforts to contact copyright-holders may have been
unsuccessful and AQA will be happy to rectify any omissions of acknowledgements. If you have any queries please contact the Copyright

Team, AQA, Stag Hill House, Guildford, GU2 7XJ.
Copyright © 2018 AQA and its licensors. All rights reserved.
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